tricot12-6 Merisilk Shawl

Suggested yarn:
+ Keito-Zakka Stores Merisilk [80% merino wool, 20% silk; 273 yds/250m per 1.76 0z/50g skein];
« color #16 Grimoire, 2 skeins [95¢]

Tools/INotions:
+ 3.6mm (approx. US 5) knitting needles or size necessary to achieve gauge

Finished measurements:
* base width 70cm/27.56"

« front length 175¢m/68.90"

* back length 128.34cm/50.53"

Gauge (10cm/4" square):

« pattern stitch: 19.5 sts and 34 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge.
Alternatively, rework pattern with your own gauge measurements.

Summary
Cast on with long-tail cast-on method. Work in pattern stitch (alternating garter stitch and st st) as indicated in
schematic. Bind off from right side on row 374.

Abbreviations:
BO = bind off

CO=caston
st st = stockinette stitch
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